EEEBREMNE BEh&RUX b

No. =4 Y uE -

1 EEM 3 1.8 0.6 0.7

2 e A (R) 1 1.8 0.9 0.8

3 Hes 1 0.8 0.5 0.8

4 *vRE—Fy Y 10 0.9 0.4 0.9

5 LEZ—Fv Xy b 2 0.9 0.4 0.9

6 ABFHH(K) 3 1.8 0.7 1.0

7 RF—NTy P 2 0.9 0.4 0.7

8 O—LZoY— 1 0.3 0.3 2.5

9 £=&—(X) 1 12 0.8 1.9
10 ) 15 1.8 0.6 0.7
11 4 —E N 50 0.6 0.2 15
12 e 200 0.9 0.1 1.2
13 6ET 5 —2 3 0.9 0.4 0.9
14 AL 2 70 0.3 0.3 0.5
15 BEERS v 2 (K) 3 2.0 0.5 1.9
16 %) 2 0.5 0.5 0.5
17 EJUES RTA kA=K 1 1.8 0.5 1.8
18 BAR— 150 0.5 0.4 0.3
19 PC5 v 4 1 0.9 0.7 15
20 Sy ay 1 0.4 0.5 0.2
21 NeF—ay 1 2.1 0.1 2.4
22 BRASD Y H— 1.0 0.5 0.5 1.8
23 = 3 1.8 0.6 0.7
24 *PRR—F Y 1 0.9 0.4 0.9
25 L 4 0.6 0.4 1.0
26 VA 1 0.6 0.5 0.5
27 AREL 2 0.6 0.4 1.6
28 Ve (RARH 5 R) 1 1.8 0.9 0.8
29 PCS v 4 1 0.9 0.7 15
30 2F -5y 2 0.9 0.4 0.7
31 ARELEH(K) 2 1.8 0.4 0.7
32 BE® 30 0.7 0.5 0.9
33 BR—L 50 0.5 0.4 0.3




A4 X

No. =% VR £ e
34 2F — LR RIS v 1 1.4 1.0 0.9
35 RF— NS v 7 2 0.9 0.4 0.7
36 Lg—%vExy b 2 0.9 0.6 0.5
37 BT TH 1 1.8 0.6 0.7
38 1R 50 0.9 0.1 1.2
39 BH— L 20 0.5 0.4 0.3
40 4=t 50 0.6 0.2 15
41 FPRE—F Y 1 0.9 0.4 0.9
42 v 2 15 0.2 0.4
43 4= 50 0.6 0.2 15
ix] IR b7 2 1.2 0.6 0.6
45 (T 50 0.9 0.1 1.2
46 BRI 1 0.3 0.9 1.0
47 CEER T v 7 (K) 1 2.0 0.5 1.9
48 BE— 30 0.5 0.4 0.3




